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A chocolate bar costs 19p.

How many bars can be
bought for £5.00?
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For her party Asmat spent:
£2.88 on apples
£3.38 on bananas
£3.76 on oranges
Will a £10 note cover the
cost?
Explain your reasoning.
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Peter offered two silver 
coins to pay for a 14p
pencil.

Investigate how much
change he got.

Year 4Copyright 2012 www.tpet.co.uk

Lauren has three 50p coins
and three 20p coins.
She pays 90p to go on the
Big Dipper ride.

How much does she have
left?
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Dad bought 3 tins of paint
at £5.68 each.

What was his change from
a £20 note?
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A CD costs £4.

Joshua saves 40p a week.

How long will it take him to
save enough money to buy
the CD he wants?

Year 4Copyright 2012 www.tpet.co.uk


